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(∆Y/Y) / (∆Y/Y)u HAULAB -Y sensitivity
normalized to (∆Y/Y)uSr /Sru=(∆Y/Y)/(∆Y/Y)u

Y_curve, ij=14, Yuij=23, L*uij=50
k=99, Ykij=500, L*kij=187,0, (∆Y/Y)/(∆Y/Y)u=0,63
k=23, Ykij=424, L*kij=176,0, (∆Y/Y)/(∆Y/Y)u=0,98
k=1, Ykij=402, L*kij=172,5, (∆Y/Y)/(∆Y/Y)u=2,13
k=0, Ykij=401, L*kij=172,4, (∆Y/Y)/(∆Y/Y)u=2,64

2,137

0,989
0,635 0,385

Yu=23

mu90_4 = −0,000, f90=0, f4=0

mu = −0,676

L* =s(Y/Yn)n−d (Yn=100,Yu=23,s=137,2, n=0,31, d=37,2)[1a]
L* =r (Y/Yu)n−d (r = s (Yu/Yn)

n=80,63, L*u= r−d =43,4) [1b]

application
range
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Law=300cd/m2
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(∆Y/Y) / (∆Y/Y)u HAULAB -Y sensitivity
normalized to (∆Y/Y)uSr /Sru=(∆Y/Y)/(∆Y/Y)u

Y_curve, ij=15, Yuij=39, L*uij=50
k=99, Ykij=100, L*kij=85,0, (∆Y/Y)/(∆Y/Y)u=0,74
k=39, Ykij=40, L*kij=51,8, (∆Y/Y)/(∆Y/Y)u=0,99
k=1, Ykij=2, L*kij=−9,4, (∆Y/Y)/(∆Y/Y)u=2,52
k=0, Ykij=1, L*kij=−17,2, (∆Y/Y)/(∆Y/Y)u=3,12

2,521

0,9880,749
0,455

Yu=39

mu90_4 = −0,000, f90=0, f4=0

mu = −0,688

L* =s(Y/Yn)n−d (Yn=100,Yu=39,s=137,2, n=0,31, d=52,8)[1a]
L* =r (Y/Yu)n−d (r = s (Yu/Yn)

n=80,63, L*u= r−d =27,7) [1b]

application
range
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Law=1000cd/m2
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(∆Y/Y) / (∆Y/Y)u HAULAB -Y sensitivity
normalized to (∆Y/Y)uSr /Sru=(∆Y/Y)/(∆Y/Y)u

Y_curve, ij=16, Yuij=19, L*uij=50
k=99, Ykij=200, L*kij=136,1, (∆Y/Y)/(∆Y/Y)u=0,60
k=19, Ykij=120, L*kij=111,7, (∆Y/Y)/(∆Y/Y)u=0,99
k=1, Ykij=102, L*kij=104,7, (∆Y/Y)/(∆Y/Y)u=2,03
k=0, Ykij=101, L*kij=104,3, (∆Y/Y)/(∆Y/Y)u=2,52

2,036

0,982
0,605 0,367

Yu=19

mu90_4 = −0,000, f90=0, f4=0

mu = −0,668

L* =s(Y/Yn)n−d (Yn=100,Yu=19,s=137,2, n=0,31, d=33,1)[1a]
L* =r (Y/Yu)n−d (r = s (Yu/Yn)

n=80,63, L*u= r−d =47,5) [1b]

application
range
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Law=200cd/m2
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(∆Y/Y) / (∆Y/Y)u HAULAB -Y sensitivity
normalized to (∆Y/Y)uSr /Sru=(∆Y/Y)/(∆Y/Y)u

Y_curve, ij=17, Yuij=11, L*uij=50
k=99, Ykij=300, L*kij=169,9, (∆Y/Y)/(∆Y/Y)u=0,51
k=11, Ykij=212, L*kij=150,6, (∆Y/Y)/(∆Y/Y)u=0,99
k=1, Ykij=202, L*kij=148,0, (∆Y/Y)/(∆Y/Y)u=1,74
k=0, Ykij=201, L*kij=147,8, (∆Y/Y)/(∆Y/Y)u=2,16

1,742

0,975
0,518 0,314

Yu=11

mu90_4 = −0,000, f90=0, f4=0

mu = −0,643

L* =s(Y/Yn)n−d (Yn=100,Yu=11,s=137,2, n=0,31, d=21,1)[1a]
L* =r (Y/Yu)n−d (r = s (Yu/Yn)

n=80,63, L*u= r−d =59,5) [1b]

application
range

ϕ=90’
Law=40cd/m2


